

Customer ID:

Date: 2/10/2025 Page #: 1 of 11

Documents #:

#:

Solution Name: CAD Quote - future

processor upgrade

Customer: WILLIAMSON COUNTY

Solution Summary

CAD Quote - future processor upgrade

Customer: WILLIAMSON COUNTY Primary Contact: Rory Tierney

Ship To Address: 301 SE INNER LOOP

STE 105

Email: Rory.tierney@wilco.org

GEORGETOWN, TX 78626-8207

Account Executive: Chad Brinkley

Bill To Address: 301 SE INNER LOOP

Account Executive: Chad Brinkley

STE 105 Email: CBrinkley@onec1.com

Customer PO:

Solution Summary	Billing Frequency	Due	Total Project	
Software	One-Time	\$3,584.04	\$3,584.04	
Hardware	One-Time	\$398,482.35	\$398,482.35	
C1 Professional Services	One-Time	\$20,888.00	\$20,888.00	
Maintenance				
Other Maintenance	Prepaid	\$167,000.44	\$167,000.44	
Project Subtotal			\$589,954.83	
Estimated Tax			NOT INCLUDED	
Estimated Freight			NOT INCLUDED	
Purchasing Contract	DIR-TSO-3763		NOT INCLUDED	
Project Total			\$589,954.83	



Date: 2/10/2025 Page #: 2 of 11

Documents #:

Solution Name: CAD Quote - future

processor upgrade

Customer: WILLIAMSON COUNTY

This Order is a configured order and/or contains software.

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
Dell PowerStore 1	200								
1 210-BCZJ	PowerStore 1200T Dell Customer Racked	DIR-TSO-3763		1	\$30,733.00	\$30,733.00	71.66%	\$8,708.44	\$8,708.44
2 370-AEZP	384GB Appliance DIMM 192GB Per Node	DIR-TSO-3763		1	\$19,529.00	\$19,529.00	71.66%	\$5,533.70	\$5,533.70



Date: 2/10/2025 Page #: 3 of 11

Documents #:



Solution Name: CAD Quote - future processor upgrade

Customer: WILLIAMSON COUNTY

Solution Quote

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
3 379-BEIO	Thank you for choosing Dell	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
4 800-BBQV	Informational Purposes Only	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
5 400-BOBK	PowerStore NVRAM FIPS QTY 2	DIR-TSO-3763		1	\$14,113.00	\$14,113.00	71.66%	\$3,999.04	\$3,999.04
6 528-BTZK	PowerStore Base SW	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
7 406-BBOO	25GBE OPTICAL 4 PORT CARD PAIR	DIR-TSO-3763		1	\$2,515.00	\$2,515.00	71.66%	\$712.66	\$712.66
8 450-BBBJ	1800 WATT POWER SUPPLY PAIR L9	DIR-TSO-3763		1	\$2,314.00	\$2,314.00	71.66%	\$655.69	\$655.69
9 343-BBTN	PowerStore Base Enclosure Install Kit	DIR-TSO-3763		1	\$563.00	\$563.00	71.66%	\$159.54	\$159.54
10 379-BDPD	ISG Product (info)	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
11 876-3332	Dell Hardware Limited Warranty	DIR-TSO-3763		1	\$1,096.98	\$1,096.98	71.66%	\$310.83	\$310.83
12 876-3716	Prosupport Plus Mission Critical 4-Hour 7x24 Onsite Service with Emergency Dispatch 3 Years	DIR-TSO-3763		1	\$5,031.00	\$5,031.00	71.66%	\$1,425.57	\$1,425.57
13 876-3754	Prosupport Plus Mission Critical 4-Hour 7x24 Onsite Service with Emergency Dispatch 2 Years Extended	DIR-TSO-3763		1	\$6,927.00	\$6,927.00	71.66%	\$1,962.82	\$1,962.82
14 876-3808	Prosupport Plus Mission Critical 7x24 Technical Support and Assistance 5 Years	DIR-TSO-3763		1	\$12,714.00	\$12,714.00	71.66%	\$3,602.62	\$3,602.62
15 951-2015	Thank you for choosing Dell ProSupport Plus. For tech support, visit //www.dell.com/contactdell	DIR-TSO-3763		1	\$0.01	\$0.01	100.00%	\$0.00	\$0.00
16 975-3461	Dell Limited Hardware Warranty Extended Year (s)	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
17 869-0512	869-0512 - Anytime Upgrade Select 5 Years	DIR-TSO-3763		1	\$140,700.00	\$140,700.00	71.66%	\$39,868.34	\$39,868.34
18 800-BBQV	Informational Purposes Only	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
19 400-BGGM	P1 25X2.5 NVME SED SSD 3.84TB	DIR-TSO-3763		10	\$22,110.00	\$221,100.00	71.66%	\$6,265.06	\$62,650.60
20 565-BBJR	25GBE TWINAX 4 PORT IO MODULE PAIR	DIR-TSO-3763		1	\$2,515.00	\$2,515.00	71.66%	\$712.66	\$712.66
21 828-4829	ProSupport Plus: Mission Critical 4-Hour 7x24 On-Site Low Capacity SSD Add-On, 5 Years	DIR-TSO-3763		10	\$10,290.00	\$102,900.00	71.66%	\$2,915.76	\$29,157.60
22 210-BCZJ	PowerStore 1200T Dell Customer Racked	DIR-TSO-3763		1	\$30,733.00	\$30,733.00	71.17%	\$8,860.76	\$8,860.76
23 370-AEZP	384GB Appliance DIMM 192GB Per Node	DIR-TSO-3763		1	\$19,529.00	\$19,529.00	71.17%	\$5,630.57	\$5,630.57
24 379-BEIO	Thank you for choosing Dell	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
25 800-BBQV	Informational Purposes Only	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00

CONFIDENTIAL AND PROPRIETARY INFORMATION OF C1



Date: 2/10/2025 Page #: 4 of 11

Documents #:

Solution Name: CAD Quote - future processor upgrade

Customer: WILLIAMSON COUNTY

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
26 400-BOBK	PowerStore NVRAM FIPS QTY 2	DIR-TSO-3763		1	\$14,113.00	\$14,113.00	71.17%	\$4,069.04	\$4,069.04
27 528-BTZK	PowerStore Base SW	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
28 406-BBOO	25GBE OPTICAL 4 PORT CARD PAIR	DIR-TSO-3763		1	\$2,515.00	\$2,515.00	71.17%	\$725.12	\$725.12
29 450-BBBJ	1800 WATT POWER SUPPLY PAIR L9	DIR-TSO-3763		1	\$2,314.00	\$2,314.00	71.17%	\$667.18	\$667.18
30 343-BBTN	PowerStore Base Enclosure Install Kit	DIR-TSO-3763		1	\$563.00	\$563.00	71.17%	\$162.32	\$162.32
31 379-BDPD	ISG Product (info)	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
32 876-3332	Dell Hardware Limited Warranty	DIR-TSO-3763		1	\$1,096.98	\$1,096.98	71.17%	\$316.29	\$316.29
33 876-3716	Prosupport Plus Mission Critical 4-Hour 7x24 Onsite Service with Emergency Dispatch 3 Years	DIR-TSO-3763		1	\$5,031.00	\$5,031.00	71.17%	\$1,450.54	\$1,450.54
34 876-3754	Prosupport Plus Mission Critical 4-Hour 7x24 Onsite Service with Emergency Dispatch 2 Years Extended	DIR-TSO-3763		1	\$6,927.00	\$6,927.00	71.17%	\$1,997.19	\$1,997.19
35 876-3808	Prosupport Plus Mission Critical 7x24 Technical Support and Assistance 5 Years	DIR-TSO-3763		1	\$12,714.00	\$12,714.00	71.17%	\$3,665.69	\$3,665.69
36 951-2015	Thank you for choosing Dell ProSupport Plus. For tech support, visit //www.dell.com/contactdell	DIR-TSO-3763		1	\$0.01	\$0.01	100.00%	\$0.00	\$0.00
37 975-3461	Dell Limited Hardware Warranty Extended Year (s)	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
38 800-BBQV	Informational Purposes Only	DIR-TSO-3763		1	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
39 Professional Services	Professional Services					\$0.00		\$0.00	\$0.00
40 400-BGGM	P1 25X2.5 NVME SED SSD 3.84TB	DIR-TSO-3763		10	\$22,110.00	\$221,100.00	71.17%	\$6,374.73	\$63,747.30
41 565-BBJR	25GBE TWINAX 4 PORT IO MODULE PAIR	DIR-TSO-3763		1	\$2,515.00	\$2,515.00	71.17%	\$725.12	\$725.12
42 828-4829	ProSupport Plus: Mission Critical 4-Hour 7x24 On-Site Low Capacity SSD Add-On, 5 Years	DIR-TSO-3763		10	\$10,290.00	\$102,900.00	71.17%	\$2,966.80	\$29,668.00
43 869-0515	ANYTIME UPGRADE STANDARD 5 YEARS	DIR-TSO-3763		1	\$140,700.00	\$140,700.00	71.66%	\$39,868.34	\$39,868.34
Dell EMC Networkin	ng S5224F-ON								
44 210-APHT	Dell EMC S5224F-ON Switch, 24x 25GbE SFP28, 4x 100GbE QSFP28 ports, PSU to IO air, 2x PSU	DIR-TSO-3763		2	\$21,138.00	\$42,276.00	75.20%	\$5,242.56	\$10,485.12



Date: 2/10/2025 Page #: 5 of 11

Documents #:

Solution Name: CAD Quote - future processor upgrade

Customer: WILLIAMSON COUNTY

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
45 343-BBLP	Dell EMC S52XX-ON Series User Guide	DIR-TSO-3763		2	\$4.00	\$8.00	75.25%	\$0.99	\$1.98
46 634-BRWJ	OS10 Enterprise, S5224F-ON	DIR-TSO-3763		2	\$3,499.00	\$6,998.00	75.20%	\$867.81	\$1,735.62
47 818-4983	Dell Hardware Limited Warranty 1 Year	DIR-TSO-3763		2	\$499.00	\$998.00	75.20%	\$123.76	\$247.52
48 818-5025	ProSupport Plus:Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch,1 Year	DIR-TSO-3763		2	\$657.20	\$1,314.40	75.20%	\$163.00	\$326.00
49 818-5032	ProSupport Plus Mission Critical:7x24 HW/SW Technical Support and Assistance, 5 Years	DIR-TSO-3763		2	\$13,308.30	\$26,616.60	75.20%	\$3,300.67	\$6,601.34
50 818-5033	ProSupport Plus:Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch, 4 Years Extended	DIR-TSO-3763		2	\$3,171.52	\$6,343.04	75.20%	\$786.58	\$1,573.16
51 951-2015	Thank you for choosing Dell ProSupport Plus. For tech support, visit //www.dell.com/contactdell	DIR-TSO-3763		2	\$0.01	\$0.02	100.00%	\$0.00	\$0.00
52 975-3461	Dell Limited Hardware Warranty Extended Year (s)	DIR-TSO-3763		2	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
53 997-6306	Info 3rd Party Software Warranty provided by Vendor	DIR-TSO-3763		2	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
54 848-8542	5 Years ProSupport Plus OS10 Enterprise Software Support-Maintenance	DIR-TSO-3763		2	\$1,573.68	\$3,147.36	75.20%	\$390.30	\$780.60
55 450-AAFH	Power Cord, 125V, 15A, 10 Feet, NEMA 5- 15/C13	DIR-TSO-3763		2	\$20.00	\$40.00	75.20%	\$4.96	\$9.92
56 450-AAFH	Power Cord, 125V, 15A, 10 Feet, NEMA 5- 15/C13	DIR-TSO-3763		2	\$20.00	\$40.00	75.20%	\$4.96	\$9.92
57 210-APHT	Dell EMC S5224F-ON Switch, 24x 25GbE SFP28, 4x 100GbE QSFP28 ports, PSU to IO air, 2x PSU	DIR-TSO-3763		2	\$21,138.00	\$42,276.00	73.59%	\$5,583.33	\$11,166.66
58 343-BBLP	Dell EMC S52XX-ON Series User Guide	DIR-TSO-3763		2	\$4.00	\$8.00	73.50%	\$1.06	\$2.12
59 634-BRWJ	OS10 Enterprise, S5224F-ON	DIR-TSO-3763		2	\$3,499.00	\$6,998.00	73.59%	\$924.21	\$1,848.42
60 818-4983	Dell Hardware Limited Warranty 1 Year	DIR-TSO-3763		2	\$499.00	\$998.00	73.59%	\$131.81	\$263.62
61 818-5025	ProSupport Plus:Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch,1 Year	DIR-TSO-3763		2	\$657.20	\$1,314.40	73.59%	\$173.58	\$347.16
62 818-5032	ProSupport Plus Mission Critical:7x24 HW/SW Technical Support and Assistance, 5 Years	DIR-TSO-3763		2	\$13,308.30	\$26,616.60	73.59%	\$3,515.21	\$7,030.42



Date: 2/10/2025 Page #: 6 of 11

Documents #:

Solution Name: CAD Quote - future processor upgrade

Customer: WILLIAMSON COUNTY

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
63 818-5033	ProSupport Plus:Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch, 4 Years Extended	DIR-TSO-3763		2	\$3,171.52	\$6,343.04	73.59%	\$837.71	\$1,675.42
64 951-2015	Thank you for choosing Dell ProSupport Plus. For tech support, visit //www.dell.com/contactdell	DIR-TSO-3763		2	\$0.01	\$0.02	100.00%	\$0.00	\$0.00
65 975-3461	Dell Limited Hardware Warranty Extended Year (s)	DIR-TSO-3763		2	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
66 997-6306	Info 3rd Party Software Warranty provided by Vendor	DIR-TSO-3763		2	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
67 Professional Services	Professional Services					\$0.00		\$0.00	\$0.00
68 848-8542	5 Years ProSupport Plus OS10 Enterprise Software Support-Maintenance	DIR-TSO-3763		2	\$1,573.68	\$3,147.36	73.59%	\$415.67	\$831.34
69 450-AAFH	Power Cord, 125V, 15A, 10 Feet, NEMA 5- 15/C13	DIR-TSO-3763		2	\$20.00	\$40.00	73.55%	\$5.29	\$10.58
70 450-AAFH	Power Cord, 125V, 15A, 10 Feet, NEMA 5- 15/C13	DIR-TSO-3763		2	\$20.00	\$40.00	73.55%	\$5.29	\$10.58
PowerEdge R7625									
71 210-BFMO	PowerEdge R7625	DIR-TSO-3763		4	\$7,857.69	\$31,430.76	72.10%	\$2,192.44	\$8,769.76
72 379-BDTF	2.5 Chassis	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
73 379-BDSS	SAS/SATA Backplane	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
74 379-BDTE	No Rear Storage	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
75 461-AAIG	Trusted Platform Module 2.0 V5	DIR-TSO-3763		4	\$99.00	\$396.00	72.09%	\$27.63	\$110.52
76 321-BIDG	2.5" Chassis with up to 16 SAS4/SATA Drives, Smart Flow, Front PERC 11	DIR-TSO-3763		4	\$517.00	\$2,068.00	72.10%	\$144.26	\$577.04
77 338-CGXN	338-CGXN - AMD EPYC 9354 3.25GHz, 32C/64T, 256M Cache (280W) DDR5-4800	DIR-TSO-3763		4	\$8,033.00	\$32,132.00	72.10%	\$2,241.36	\$8,965.44
78 338-CGXN	338-CGXN - AMD EPYC 9354 3.25GHz, 32C/64T, 256M Cache (280W) DDR5-4800	DIR-TSO-3763		4	\$8,033.00	\$32,132.00	72.10%	\$2,241.36	\$8,965.44
79 379-BDCO	Additional Processor Selected	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00



Date: 2/10/2025 Page #: 7 of 11

Documents #:

Solution Name: CAD Quote - future

processor upgrade

Customer: WILLIAMSON COUNTY

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
80 412-ABCZ	High Performance Heatsink for 2 CPU Configuration	DIR-TSO-3763		4	\$353.55	\$1,414.20	72.10%	\$98.64	\$394.56
81 370-AHLL	Performance Optimized	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
82 370-BBRX	5600MT/s RDIMMs	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
83 780-BCDS	Unconfigured RAID	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
84 405-AAZB	PERC H755 SAS Front	DIR-TSO-3763		4	\$3,299.00	\$13,196.00	72.10%	\$920.49	\$3,681.96
85 750-ADWP	Front PERC Mechanical Parts, rear load	DIR-TSO-3763		4	\$50.00	\$200.00	72.10%	\$13.95	\$55.80
86 384-BBBL	Performance BIOS Settings	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
87 800-BBDM	UEFI BIOS Boot Mode with GPT Partition	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
88 750-ACOM	Fan Foam, HDD 2U	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
89 750-ADGJ	Very High Performance Fan x6	DIR-TSO-3763		4	\$299.00	\$1,196.00	72.10%	\$83.43	\$333.72
90 450-AJHG	Dual, Hot-Plug,Power Supply Redundant (1+1), 1400W, Mixed Mode	DIR-TSO-3763		4	\$1,399.00	\$5,596.00	72.10%	\$390.36	\$1,561.44
91 330-BCBH	Riser Config 2, 6 x8 FH + 2 x16 LP	DIR-TSO-3763		4	\$1,018.79	\$4,075.16	72.10%	\$284.26	\$1,137.04
92 329-BHNV	PowerEdge R7625 Motherboard	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
93 412-AASK	No OCP 3.0 mezzanine NIC card	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
94 540-BDKD	Broadcom 5720 Dual Port 1GbE LOM	DIR-TSO-3763		4	\$139.00	\$556.00	72.09%	\$38.79	\$155.16
95 470-AEYU	No Cables Required	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
96 321-BHXZ	Dell Luggage Tag	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
97 325-BEVI	PowerEdge 2U Standard Bezel	DIR-TSO-3763		4	\$49.00	\$196.00	72.08%	\$13.68	\$54.72
98 329-BERC	Assembly BOSS Blank	DIR-TSO-3763		4	\$1.70	\$6.80	71.76%	\$0.48	\$1.92
99 611-BBBF	No Operating System	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
100 528-CTIC	iDRAC9, Enterprise 16G	DIR-TSO-3763		4	\$489.00	\$1,956.00	72.10%	\$136.44	\$545.76
101 350-BBYX	No Quick Sync	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
102 379-BDWE	Force Change Password iDRAC9 x4	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
103 379-BCQX	iDRAC Service Module (ISM), NOT Installed	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
104 379-BCQY	iDRAC Group Manager, Disabled	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
105 770-BECC	ReadyRails Sliding Rails (B21)	DIR-TSO-3763		4	\$153.87	\$615.48	72.10%	\$42.93	\$171.72



Date: 2/10/2025 Page #: 8 of 11

Documents #:

Solution Name: CAD Quote - future processor upgrade

Customer: WILLIAMSON COUNTY

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
106 631-AACK	No Systems Documentation, No OpenManage DVD Kit	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
107 340-DCWB	PowerEdge R7625 Shipping	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
108 340-DCXY	PowerEdge R7625 Shipping Material	DIR-TSO-3763		4	\$149.00	\$596.00	72.09%	\$41.58	\$166.32
109 389-EFMJ	PowerEdge R7625 No CE or CCC Marking	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
110 817-BBBP	None Required	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
111 883-6943	ProSupport Plus Mission Critical 7x24 Technical Support and Assistance 5 Years	DIR-TSO-3763		4	\$11,676.00	\$46,704.00	72.10%	\$3,257.66	\$13,030.64
112 883-6952	ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch 3 Years	DIR-TSO-3763		4	\$1,296.00	\$5,184.00	72.10%	\$361.61	\$1,446.44
113 883-6954	ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch 2 Years Extended	DIR-TSO-3763		4	\$4,135.00	\$16,540.00	72.10%	\$1,153.75	\$4,615.00
114 883-7034	Dell Hardware Limited Warranty Plus On-Site Service	DIR-TSO-3763		4	\$249.00	\$996.00	72.10%	\$69.48	\$277.92
115 951-2015	Thank you for choosing Dell ProSupport Plus. For tech support, visit //www.dell.com/contactdell	DIR-TSO-3763		4	\$0.01	\$0.04	100.00%	\$0.00	\$0.00
116 975-3462	Dell Limited Hardware Warranty Plus Service, Extended Year(s)	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
117 900-9997	On-Site Installation Declined	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
118 370-BBRN	64GB RDIMM, 5600MT/s, Dual Rank	DIR-TSO-3763		48	\$4,203.00	\$201,744.00	72.10%	\$1,172.71	\$56,290.08
119 400-AZUT	480GB SSD SATA Mixed Use 6Gbps 5 12 2.5in Hot-plug AG Drive, 3 DWPD	DIR-TSO-3763		4	\$1,442.38	\$5,769.52	72.10%	\$402.45	\$1,609.80
120 400-AXSW	960GB SSD SATA Read Intensive 6Gbps 512 2.5in Hot-plug AG Drive, 1 DWPD	DIR-TSO-3763		4	\$1,700.06	\$6,800.24	72.10%	\$474.34	\$1,897.36
121 450-ACSM	450-ACSM - C13 to C14, PDU Style, 10 AMP, 6.5 Feet (2m) Power Cord, Argentina	DIR-TSO-3763		8	\$12.00	\$96.00	72.17%	\$3.34	\$26.72
122 540-BDHF	Broadcom 57414 Dual Port 10/25GbE SFP28 Adapter, PCIe Full Height, V2	DIR-TSO-3763		8	\$709.00	\$5,672.00	72.10%	\$197.83	\$1,582.64
123 605-BBFN	No Media Required	DIR-TSO-3763		4	\$0.00	\$0.00	0.00%	\$0.00	\$0.00



Date: 2/10/2025 Page #: 9 of 11

Documents #:



Solution Name: CAD Quote - future processor upgrade

Customer: WILLIAMSON COUNTY

Solution Quote

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
124 210-BFMO	PowerEdge R7625	DIR-TSO-3763		3	\$7,857.69	\$23,573.07	72.10%	\$2,192.44	\$6,577.32
125 379-BDTF	2.5 Chassis	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
126 379-BDSS	SAS/SATA Backplane	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
127 379-BDTE	No Rear Storage	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
128 461-AAIG	Trusted Platform Module 2.0 V5	DIR-TSO-3763		3	\$99.00	\$297.00	72.10%	\$27.62	\$82.86
129 321-BIDG	2.5" Chassis with up to 16 SAS4/SATA Drives, Smart Flow, Front PERC 11	DIR-TSO-3763		3	\$517.00	\$1,551.00	72.10%	\$144.25	\$432.75
130 338-CGXN	338-CGXN - AMD EPYC 9354 3.25GHz, 32C/64T, 256M Cache (280W) DDR5-4800	DIR-TSO-3763		3	\$8,033.00	\$24,099.00	72.10%	\$2,241.34	\$6,724.02
131 338-CGXN	338-CGXN - AMD EPYC 9354 3.25GHz, 32C/64T, 256M Cache (280W) DDR5-4800	DIR-TSO-3763		3	\$8,033.00	\$24,099.00	72.10%	\$2,241.34	\$6,724.02
132 379-BDCO	Additional Processor Selected	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
133 412-ABCZ	High Performance Heatsink for 2 CPU Configuration	DIR-TSO-3763		3	\$353.55	\$1,060.65	72.10%	\$98.64	\$295.92
134 370-AHLL	Performance Optimized	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
135 370-BBRX	5600MT/s RDIMMs	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
136 780-BCDS	Unconfigured RAID	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
137 405-AAZB	PERC H755 SAS Front	DIR-TSO-3763		3	\$3,299.00	\$9,897.00	72.10%	\$920.48	\$2,761.44
138 750-ADWP	Front PERC Mechanical Parts, rear load	DIR-TSO-3763		3	\$50.00	\$150.00	72.10%	\$13.95	\$41.85
139 384-BBBL	Performance BIOS Settings	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
140 800-BBDM	UEFI BIOS Boot Mode with GPT Partition	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
141 750-ACOM	Fan Foam, HDD 2U	DIR-TSO-3763	,	3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
142 750-ADGJ	Very High Performance Fan x6	DIR-TSO-3763		3	\$299.00	\$897.00	72.10%	\$83.42	\$250.26
143 450-AJEV	Dual, Hot-Plug, Power Supply 2400W Redundant, D Mixed Mode	DIR-TSO-3763		3	\$2,309.00	\$6,927.00	72.10%	\$644.25	\$1,932.75
144 330-BCBH	Riser Config 2, 6 x8 FH + 2 x16 LP	DIR-TSO-3763		3	\$1,018.79	\$3,056.37	72.10%	\$284.26	\$852.78
145 329-BHNV	PowerEdge R7625 Motherboard	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
146 412-AASK	No OCP 3.0 mezzanine NIC card	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
147 540-BDKD	Broadcom 5720 Dual Port 1GbE LOM	DIR-TSO-3763		3	\$139.00	\$417.00	72.11%	\$38.77	\$116.31
148 470-AEYU	No Cables Required	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00

CONFIDENTIAL AND PROPRIETARY INFORMATION OF C1



Date: 2/10/2025 Page #: 10 of 11

Documents #:

Solution Name: CAD Quote - future processor upgrade

Customer: WILLIAMSON COUNTY

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
149 321-BHXZ	Dell Luggage Tag	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
150 325-BEVI	PowerEdge 2U Standard Bezel	DIR-TSO-3763		3	\$49.00	\$147.00	72.10%	\$13.67	\$41.01
151 329-BERC	Assembly BOSS Blank	DIR-TSO-3763		3	\$1.70	\$5.10	71.76%	\$0.48	\$1.44
152 611-BBBF	No Operating System	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
153 528-CTIC	iDRAC9, Enterprise 16G	DIR-TSO-3763		3	\$489.00	\$1,467.00	72.10%	\$136.43	\$409.29
154 350-BBYX	No Quick Sync	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
155 379-BCSF	iDRAC,Factory Generated Password	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
156 379-BCQX	iDRAC Service Module (ISM), NOT Installed	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
157 379-BCQY	iDRAC Group Manager, Disabled	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
158 770-BECC	ReadyRails Sliding Rails (B21)	DIR-TSO-3763		3	\$153.87	\$461.61	72.10%	\$42.93	\$128.79
159 631-AACK	No Systems Documentation, No OpenManage DVD Kit	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
160 340-DCWB	PowerEdge R7625 Shipping	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
161 340-DCXY	PowerEdge R7625 Shipping Material	DIR-TSO-3763		3	\$149.00	\$447.00	72.10%	\$41.57	\$124.71
162 389-EFMJ	PowerEdge R7625 No CE or CCC Marking	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
163 817-BBBP	None Required	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
164 883-6943	ProSupport Plus Mission Critical 7x24 Technical Support and Assistance 5 Years	DIR-TSO-3763		3	\$11,676.00	\$35,028.00	72.10%	\$3,257.98	\$9,773.94
165 883-6952	ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch 3 Years	DIR-TSO-3763		3	\$1,296.00	\$3,888.00	72.10%	\$361.61	\$1,084.83
166 883-6954	ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch 2 Years Extended	DIR-TSO-3763		3	\$4,135.00	\$12,405.00	72.10%	\$1,153.74	\$3,461.22
167 883-7034	Dell Hardware Limited Warranty Plus On-Site Service	DIR-TSO-3763		3	\$249.00	\$747.00	72.10%	\$69.46	\$208.38
168 951-2015	Thank you for choosing Dell ProSupport Plus. For tech support, visit //www.dell.com/contactdell	DIR-TSO-3763		3	\$0.01	\$0.03	100.00%	\$0.00	\$0.00
169 975-3462	Dell Limited Hardware Warranty Plus Service, Extended Year(s)	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00



Date: 2/10/2025 Page #: 11 of 11

Documents #:

Solution Name: CAD Quote - future processor upgrade

Customer: WILLIAMSON COUNTY

# Item Number	Description	Public Sector Contract	Term in months	Qty	Unit List Price	Extended List	% Disc	Unit Price	Extended Price
170 900-9997	On-Site Installation Declined	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
171 370-BBRN	64GB RDIMM, 5600MT/s, Dual Rank	DIR-TSO-3763		36	\$4,203.00	\$151,308.00	72.10%	\$1,172.70	\$42,217.20
172 400-AZUT	480GB SSD SATA Mixed Use 6Gbps 5 12 2.5in Hot-plug AG Drive, 3 DWPD	DIR-TSO-3763		3	\$1,442.38	\$4,327.14	72.10%	\$402.45	\$1,207.35
173 450-AEJI	C19 to C20, PDU Style, 2.5M Power Cord	DIR-TSO-3763		6	\$20.00	\$120.00	72.10%	\$5.58	\$33.48
174 540-BDGV	Broadcom 57414 Dual Port 10/25GbE SFP28 Adapter, PCIe Low Profile, V2	DIR-TSO-3763		6	\$709.00	\$4,254.00	72.10%	\$197.82	\$1,186.92
175 605-BBFN	No Media Required	DIR-TSO-3763		3	\$0.00	\$0.00	0.00%	\$0.00	\$0.00